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X
1. If f(X)Im, g(X) =+/4—X . Find the domain of go f(X).

2. Solve the equation e =3""°.

x? -1
” . If it exists.

3. Evaluate 1M x—
4. Suppose that the diameter of a cat’s pupils is given by

21x %% +8 _ _ _ _
f(x)= EVEIIDY (mm), where X is the intensity of light on the

pupils. Find the diameter A with minimum light and the diameter B with
maximum light. (A, B) =

. 5x?
5. lim — y2
To(xy)—=>(L2) X+ y

d
6. Calculate d_z(/ using implicit differentiation. 4y* +In(x’y) =7

3
ind the derivative of the function ¥ =~ o—2—, X >1
7. Find the derivative of the function m , .

T X 4 )

N

b

(%

8. Find the point on the graph of the function f(X) = VX that i closest to

the point (2, 0).
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9. Discuss the concavity of the graph of the function f (X) = (x—2)*(x—1)

10. Find the extrema of the given function f(X) = x’e™

11. f(lnxx) dx =

X. X
12. Jseczatangdx =

3
13 j;\/9—25x2 dx

2 x+1
——— dx =
14. Il X(x* +1)

15. Find the volume of the solid formed by revolving the region bounded by

1
y=§x3 and Yy =6Xx—x° aboutthe line x=3.

16. Find the divergence at (2,1,1) for the vector field
F(Xx,y,2)=xyzi+ xyj+zk .
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17. Find the maximum value of the directional derivative of the function

T
f(x,y)=xtany at the given point (Z’Z) :



18.

19.

20.

21.

22.

23.

24.

Find the maximum value of f(X,Y,z) =2x*+Yy®+3z° subject to the

constraint 2Xx—3y—4z =49,

Let R be the annular region lying between the two circles X +y?=1

and X+ Yy” =5 Evaluate the integral ”(XZ +Y)dA where Ais the
R

areaof R.

Find the equation of the tangent plane to the hyperboloid
2> —2x* —2y?* =12 atthe point (1,—1,4).
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